
1) 118.75 ÷ 12.5

Answer: ____________

2) 26 x (-9)

Answer: ____________

3) Round 25.80458 to 1 significant 
figures.

Answer: ____________

4) Share 24 in the ratio 13:11

Answer: ____________

5) Find area of triangle
a = 36 m, b = 46 m

Answer: ____________

6) 25.1 + 54.5

Answer: ____________

7) 84.9 + 27.6

Answer: ____________

8) Find the percentage change from 16 to 
24

Answer: ____________

9) Round 25.4814 to the nearest whole 
number.

Answer: ____________

10)
Find the next three numbers in 
the sequence
2,4,4,6,6,8,8__,__,__

Answer: ____________

11)

'Name the type of angle.

Answer: ____________

12) A number is chosen at random from 
1 to 25. Find the probability of 
selecting multiples of 9.

Answer: ____________

13) 05:06 am To 10:44 am

Answer: ____________

14) 14/5 + 19/1

Answer: ____________

15) 25.5 + 42.4

Answer: ____________
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16) 100 - 100

Answer: ____________

17) $227.00 earning 2% compound 
interest for 3 years.

Answer: ____________

18) Find the mean of the following set of data:

4, 0.8, 0.6

Answer: ____________

19) Find the mean of the following set of data:

4, 0.8, 0.6

Answer: ____________

20) Decrease 45 by 20%

Answer: ____________

21) A number was shared in the ratio 
13:17. The smaller share was 26. 
What was the larger amount?

Answer: ____________

22) Round 28.50524064 to the nearest 
1000

Answer: ____________

23) Convert the following improper 
fraction 36/9 + 47/10 into a mixed 
number

Answer: ____________

24) Find perimeter of 
triangle
a = 88 ft, b = 96 ft,
c = 99ft

Answer: ____________

25) Find perimeter of 
triangle
a = 88 ft, b = 96 ft,
c = 99ft

Answer: ____________

26) 04:39 am To 10:03 am

Answer: ____________

27) Convert the following improper 
fraction 35/10 + 22/3 into a mixed 
number

Answer: ____________

28) 18 x 1000

Answer: ____________

29) 57 - 0

Answer: ____________

30) A number is chosen at random from 
1 to 25. Find the probability of 
selecting divisors of 7.

Answer: ____________
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Total: ___ / 30
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Answers:

1) 9.5 2) 3) 30 4) 1 : 23 5) 828m 6) 79.6 7) 112.5

8) 50% 9) 25 10) 10,10,12, 11) Right 12) 2/25 13) 05 Hours 38 Mins 14) 214/5

15) 67.9 16) 0 17) $240.89 18) 1.8 19) 1.8 20) 36 21) 34

22) 28.505 23) 811/30 24) 283ft 25) 283ft 26) 05 Hours 24 Mins 27) 61/6 28) 18000

29) 57 30) 2/25
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